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A homegenscus mixbure 1s a

(apcolloid (B soluton {¢) suspension {db pure subsiance.

Which of the following s o a parification rechnigue”

{a distillation {b) filtzation (o) mixing (d) chromatepraphy,

Which twa types of change both produce new pure substances?

() physical and chamical (h) nuclear and chermugal

() physical and nuclear {d) none of the above.

Flow muany atoms arc represented io e fonnula HzPOe?

(ap & () 3 {ca 7 (d) ]

The number of protons in the nuclens of an atom is called the __ for the atom.
{2) mass mumber by family monber () clectron mamber 1) atomic number
The ground state of (e hydeogen atom: would have

fa) three electrons i the Nimst ot

(B 1w electrons in the first oroit.

(¢ pne electron in the first o,

{d) one electron in the tirst oroit and onc clevicon in the second orbit,

Which element 1s 2 melal?

ta) Chlornine [ sedium (c) argon (d) sullur

Sodmm has chemical properties most ke

(o) cesium 1b) magneswm {cd chlonne (d) mercarny

Elements that conduct heat and clectneny well are

(a3 nonmetals, (b} noble gases (o) metals. (d) mewalloids.

When you look ab a gram of tble salt (sodinm chiaride). whit do you undarsand
composes w crystat?

() atoms of sodium o5} molecules of sodium and chlonne

{c1 sedium lons and chloride wons {d} molecules of sodiwm chlonde
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The amount of energy required to remove an elecon from an atorn 1 he

{#) removal enecgy. () electron affeity. {C) icmiFation ensegy.

id) cathodc-ray encrgy,

An element with electronic atructure of 152262204 15 in which group of the pedodic 1ble?!
fa)2 (b4 {16 W) R

Wiy are atoms at the bottomn of a group in 2 pericdic table larper than atoms at 1he 1op of the
group?

{a) Larger atoms have more clectrons,

{h) Larger atoms have more protons.

1c] Larger atoms have moce enecgy levels occupied by elecrons.

() Larger atoms have less soreening effect by inner electrons.

Which substance s most likely o have covalent bonds?

(2) PCl3 (h) KBr (ch MgFa (d) Sl

Whneh substance demes ol conwn reclecpbes™

iwh sugar (bycthanol (c) diamond (d) glucose

Which of the following molecules does not obey the octey ule?

{a} BFy (1) NH3y (&) CHy {d) E0

Which 15 nol & phyvsical property of walcr?

ia) solid 18 less dense than liquid at normat freszing point

(b} relunively high heat cupaeiny per wndt of weight

{2} relatively fow heal of vaponzation (d) relatrvely larpe surface ension

. Which chloride when added to water wall produce 2 metal bydrexide preepitate?

(ap NaCl {b) CaCly ¢y AlCly {dy Ty

. All of the Following are properies of aciils except one. Which s the excepioom?

(&) tarn bimus from biwe to red (b)) tasie sour

ic} rezct with metals Lo liberate hydrogen (di have pli abave 7
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Which is not generally associad with nuclear reactions.

(2} cuter electmons {b) atomic nurber {c) alomic s (d) the nuelews

The product of the wlpha decay of wraniurg-238 is

(a} thorum-234. {b) thoriom-230. {c) vranwm-234. (d) vranum-242.

Which is sonaller m terms of radioactive disimegratons per sccond?

fa) one cude (h) one mictocuric (o) ore millicunie (d) one picncurie

An eiecirolytic selation

() conduris stectsicity. (h) coneins ions. (C) MAay cODLAIN S0ME maleciles.
{dy has properties {a), (b). and {¢].

Ha{)F 15 the

ta) hydrogen ion. {b) hydronium ion. {c} ammeaiu wd. (d} hydndivm ion.
1F 3 moles of 2 substance are dissoived in 300 mL (0.3 L) of solutien, the concentrabon of
this snlution 1s

@) 3 M (b 1S5 M ()6 M.

(d) unknown sinee sobstance 15 nol given and molecular weight is not avalable,
When concentrated sulfuric acid is duluted, always

() wdd acid to watcr, (b) put acid in first, then ald the wares.

(i) add acid and water at tne same time. (d) limit the concentration to 80 M o less.
Chemical bulferg systems

{a) maintain constant pH. () consisyof @ conjugals acid-base pair,

(¢} absorh added H¥ or OH- jons. {d) do all the above.

Why is pure waler neutral?

{a) Pure waicer has no H* wons and no OH 10ns.

¢by Pure water has equal numbers of bydrogen and hydroxide aons.

(1 Pure water s no dissolved carbon dioxide.

{d) The pH of purc water af 25 "C s 7.
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{a) & nolecular substance, (B a polymer. () a salt. {d} a covalent solid,
10, Which is v weak electrolyte?

(7)) HCI (b} H280y (c) HNOQy () BI04

1. The tormuls of 2 salt formed from Cal* and POWY- jons is

(o) CaPOy. by Caz(POy)z (o) Cas(Ply)y. (d) CayPaOy.

3. Which compound is the strongest oxidizing agent?

iap KMnOy 0 MpO () CO (d) CO4

33. Which of the following might prevent cortosion of iren?

La) # waler spray (b salt sodutions (¢ acid treatments (d) a coating of Zine
34, In a lead storage batery, what lead compound is forrped at both Lhe cathode and anode
during discharge®?

(&) Tead oxide (PhO;) {b)lead sulfare {PhSO4)

() lead chlonde (PRC12) (d) lead oxide (PR

33, [oan electrolysls reaction, oxdation nccurs at which eleviode?

(a) ancde M) calhode (o both electeodes (d) neither clocirode

36, Caleinm oxide from ovster shells is used to precipitale magnesium from sea water. The
varle reacts with water to form

{a) hydeogen (b a sulfate (o} a hydroxide

{d} oxide ions which precipitaie the magnesinm in the aqueous mediam.

37, Washitg soula is a hydrated formt of

(@) soudeurmn bicarbonate. b} cateiom carbonate.

() sodivm carbonate. (d) magpesium hicarbonate.

13, Hydrolvsis s

(2} & water splitting reaction. (b an oxidation.

fc) o reduction, (d} required prior to a combustion,
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. The cample: conthustion of C3He, vietds
{1} C3H4 and Hy. {b) CO and HyO, () COz and HyO. {d) C and H;.
Which of the foliowing 8 & stuctural somer of pentanc?
(a) 2-methylpentane (b} 2-metbyibexane (¢} 2-methy lbutsne {d) F-methybpropane
The prirnaty componenl of naincal gas i
fay methane, (hyethane. (c) propane. (d) butane.
. Among the following, the compound with the highest octane rating 1s
(a) n-hexune. {b) 1-pentens. (c) isooctanc. (d) methanal,
Hydrogen bonding between ronlecules 1s impectant in
{2y alcohals. (B ethers, (oY kewones. (d) hydrcarbons.
A free radicul Conains
() only pairs of electrons. (b] onky upaired electrons,
() pairs of elecrons and one unpaired cleclron,
{d) ome electron pair and a number of uppradred electrons,
‘The name of the (72Hs™ group 1s
fa) methyl, (b} ethyl. (c} propyl. (d) butyl.
Which of the {ollowing is nou a charycteristic of a metal?
(a3 high reflectivity of light (k) high thermal comductivity (4] high electnical pomductivity
{4b) increasing electrical conductivity with incroasing lemperatuoe
Which of the following combinations of atoms do vou expect to yield a diserete molecule?
{a] Baand O (b} Nand O {c) Cuand Ni {d»Naand F
Herw prany nearest neighbors does each atom have in 2 body-centersd cubie {bcc) sipuctuee't
{a}4 (b)6 (18 [d) L2
What oxidation siate(s) do copper stoms possess in the YBupyCuz Oy supcreonductos?
{a} +2 only (b} both +1 and +2 enly (c) boh +2 and +3 {dyboth +1 and +3
How many grams of AgBr can be made from 1,00 g of KClp 3B 77 Atom weiphts fur Ag,

K. Br, and Cl are L0787, 3310, 799, and 3545, respeciively. 5




